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AP Physics – Magnetism 2 
Hans Christian Oersted  -  1820

Right Hand Rule: 
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inductors or coils.

The magnetic field can be intensified:  

· Increase number of loops or turns.

· Increase current.

· Construct turns over permeable material 
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called a core.

electromagnets.  

can be switched on and off.

Solenoid.

Strength of Magnetic Field: 
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  -  permeability of free space

The value for the permeability of free space is:     
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· A long straight wire has a current of 1.5 A.  Find the magnitude of the magnetic field at a point that is  5.0 cm from the wire.
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Force Between Parallel Conductors: 

Ampere found 
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Each conductors creates own magnetic field

fields attract or repel each other.  

In the drawing, there are two wires separated by a distance d.
Wire number two sets up a magnetic field, B2.  This field is equal to:
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This field exerts a force on wire number one.  The force is given by:    
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direction of force towards other wire

other wire attracted by magnetic force of same magnitude.

current direction opposite --  repel

· A 5.00 cm length of wire has a current of 3.50 A.  It is 12.0 cm from a second 5.00 cm length of wire that has a current of 4.95 A in the same direction.  Find the force of attraction between the two wires.

magnetic field around second wire:
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Plug in the equation for the magnetic field:
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 Electric Motors:  

split ring commutator.  
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